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Mid-Term Exam

1. a (10 points)  Determine the tension in cable ACB.
b. (10 points)  Determine the magnitude of force P.
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2. a (10 points)
a single couple at point G.

b. (10 points)

Replace the forces and couples shown by a single force and

Replace the force-couple system at G with a single force

and determine its point of application on line FG or GH.

&
EQB"— Lo Cos15 L' = Joc 5, 1
Crws 19320 - 507630
P = —loCostol = 17051170
~Yl,04 L — 2%
- %o ;
M= yr Mm )
M

=(19%,2 x $30) .f-@.(f:,;é) + (7o) (Ul ) —

focoe loeoe

—
—

My = =9555 D Nm

%Em‘é’l s 193,24 -l.04

) (1%

+y4i 4o ’/‘b")f:f

ER TN

’C?O-$O “7 ‘{'fzcﬁ‘%%—f 10/ 02

©Cyasd s =576 —1IvE-%o =

}'ﬂﬂé ;-®L(l446
|5‘1.,Z

= 6 ;‘gﬁ




\50, 2 L —

M4 L6

‘
J

A




oot o iU AR .A

e .

m # < RA—S R~ 19,861 —v5:28

¥

'DQ/

3. (25 points) Replace the force-couple system (R and M) with an equivalent
system applied at point A. GivenR =50 NandM =10 N.m.
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4. (35 points) Determine the tension in the cable. A and E are ball-and-socket joints.
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